E=F 3@

Wz, m e Ch EH: |2+ 2 + 2 — 2l = 202+ |2, UL
CRZUI o + 23+ 2 o+ 1 FEEEEUE, SO, BHEEM AL
CBEm,n NIEBE EY: EAEBEOR L, ged(a™ — 1,27 — 1) = gecdtmn) _
W2 =V5+ V=5, 2 =5 —/=5.

(i) 21,22, 1 FESEHOR ER BT
(i) 21, 20, 1 FEA BRECIS B R B AMEAE G

TH U B

- HIWT R A Rla] RS T4

(1) X455 IR n, RBUNT n 1S R M2 T iA.

(2) X5 5E MIEBA n, RECKT n SRR B2 T4k

(3) M4 ENISEEL a, WL HFKM f(a) = 0 HISERBE I f(x) 215
(4) WL ERISEEL a, W2 FM f(a) # 0 HISERBE I f(x) 21K
(5) WK flx) = f(—x) FEREZ I f(x) 214

CG&fR) W F R, fi, forooe  fa € Fla)o UEH: fi, fo, -, f BMETEOM BALY
3 Ay, a2, ,0n € F7 /fi?%l; det((fl(aj))nx” 7£ 0.



